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1. Which of the following is‘are correct
statement’/s 7

a
() Dandi March was led by Mahatm
Gandhi in the year 1932

(i) The Quit India Movement w:
launched by Nghatma Gandhi int
year 1942 \//

(A) Only (i)
\/(B)/ Both (i) and (i)
(C) Only (i)

(D) None of the above

@ Polavaram project is
y/: multipurpose imgation initiative in

Andhra Pradesh
(B) related to Yoga and Wellness

(C) related to household consumption
expendrture survey

(D) super critical thermal power project
inftiated in Chhattisgarh
3. Fullformof AlUis
(A) Auxiliary Logic Unit
(B) Array Language Utiltty

Mthmeﬁc Logic Unt

(D) Auxiliary Language Unit
( The main agenda of the Word Social
Forum is "
‘.(A)/ opposition 1o terrorism
(B) opposition 1o colonialism

(C) opposition to neo-iberal
globalization

(D) opposition to communism
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Quency (1) AMONG the radio waves.
ys ?

(A) ‘(mdlo WaV@s)
\/(B)/ f(x-rays)

©) 1(X-rays)

infrareq and X.ra

> (X-rays) > f(infrared)
G '(intrar(,d) > I(radio waves)

> f(radio waves) > {(infrared)

D .
(D) '('n"a"ed)>f(radio waves) > f(X-rays)

“Nationa| Technolo
in India

\SA) to honour Dr, C. V. Raman for his
dlscovery of the “Raman Effect”

to honour the birth anniversary of
Sir M. Visveswaraya

gy Day” is celebrated

(B)

(C) to commemorate the event of

Successful conduction of nuclear
tests

(D) to commemorate the event
of successful launching of
Chandrayaan-3

7. Green Chemistry emphasis on

design of chemical products and
processes that reduce or eliminate
the use or generation of hazardous
substances

(B) study of ocean plants
(C) study of reactions in plants

(D) study of green house effect
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8. Lalalajpat R}?H,Vas also known as

! (A) Sher—e-éern‘gal

\)p,/s‘her-e Punjab

(C) Sher-e-Maharashtra
(D) Sher-e-Bihar

9. Which of the following is a source of DC
current ? el

(A) ransfonner
thhtum-lon battenes

(C) Gas turbme

(D) Transistor'

@ rms the mixed economy ?

Public and ;Jnvate sectors

(B) Commerctal and subsistence
farming -°

)
L.z‘:-j

(C) Foreign and domestic investments

(D) Modem and traditional industries

11. Wireless technology used for exchanging

data gver short distances is
Aelooﬂg;@

(B) cloud coi;i;;ixting
(C) smartphone

(D) satellite phone

Dlspersxon of a llqu1d In another liquid is
called g\,

(A) aerosol f.,"

( emulsiqﬂ‘;.?
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13. Ho
o w Many bytes are therg in the binary
(A) )
B) 1
(C) 4

87 16

1/4.« NATO came iﬁfo existence in
(A) April 1949
(B) March 1961
(C) March 1960

P April 1960

15.  Which of the following is incorrect about
~ Lewig’ theory ?

(A) It used concept of transfer of
electrons.

(B) It states that a base is a compound
that donates an electron pair.

M used concept of transfer of
./ . protons. Lo A
(D) It states th.‘ait'_‘éh acid is a compound

' that accepts an electron pair.,

16. In Linux all programs are executed as

) shell script
(B) process

(C) variables

(D) loop
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(A) an operatmg system
a quantum; Qh} p

1]
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(D) a programming languagé

18. Which of the foﬁbﬁing is a property of @

19.

20.

chemical reaction.?

(:'1‘

(A) Italways reqmres heat

M results i |n forrnatlon of new
substances =3

(C) Itonly occurs in solid substances

\r

(D) Itonly occurs in gases

e

Which is the Iar"g‘é;t exported item of
India ? £
(A) Rice *
\UB] Wheat | @

What will be the"retractive index of 3
medium in which the velocity of light is
2.0x 108 metre/sec. ?

(A) 2.0 “1& 8
(B) 2.2 }
é
f‘

(D) 1.33

N
N
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The gsv files are |
——— files.
( data

\_}(P)/Dython

(C) text

(D) object

21,

22 Which of |
lhe fOIIOWIn i r
qUantny 2 g is a vecto

(A) mass

(B) temperature
C

( ) energL

Mrce

Trade ang Economic Relations
Committee (TERC) in India is headed by

(A) Finance Minister

23,

(B) Minister of Commerce

AET Finance Secretary
(D) Prime Minister

24, . "GroK" is
(A) aprogramming language

(B) a navigation tool

L)"% generative Al tool

(D) a search engine

@‘ hich country has topped in Global
/g;gital Well-Being Index 2025 ?

JA) France

() Bhutan

(C) India

(D) China
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Asia Cup Hockey 2025 ?
Karnataka
(B) Uttar Pradesh

B?’ Blhar

27. Compressions and rarefactions are the
phenomenon associated with

(A) I:ght waves

(B) surface waves
the sound waves

(D) all of the above

28. 1 Megabyte is
(A) 1024 Gigabyte
1024h Ktlobyte
(C) 512 Gtgabyte
(D) 1024 Byte

I
29. Which of tne__following pairs represents
isotopes ?

(A) 1gArH0 and ooCa®l

-

(B) 8017and F17

N }
\/(Q/;ct? and ¢G'3
(D) §C'2arid ,N13

30. Which of the following liquids is good
conductor. of electricity ?

.....

(A) Dnstllled water
(B) Vegetable oil

(C) enzene
Salted water
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Which Indian State is the host of Men's @/f\ Missile is jointly geyeloped by

&"/IK and France

(B) Russia ang India

\)(g? USA and France

(D) Germany ang France

Whatis the name of the new portal

introduceq by government to meonitor
_?_Mge_depms in real-time ?

\}A) GrainTracker

(B) Bharat Bhandaran

(C) Depot Darpan
(D) Storage Suraksha

Which of the following is not a
thermoplastic ?

\/(A')/Pc‘)lyvinyl'chloride

(B) Polyesters
(C) Nylon
(D) Epoxy
If ‘A’ and ‘B' are inputs to a NOR gate,
me'ﬁ ‘it-s output is
(A) AB
(B) A+B
© AP

‘_jD’/AJrB '
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The start-up which provides 9nd-to—enfi
agriculture services to Indiart farmers is

S8
Yo

(A) Zerodha i X %

&B) De Haat “L
&7 Udaan

(D) PhamEasy

36. The stars forming a recogﬁ:izglble shape

is called o
(A) asteroids &3

J_: FC
%met £1

(C) constellation

(D) galaxy

37.  Which of the following memnories allows

simu s read and write operations ?
i

(B) CD-ROM |
(C) ROM
(D) EPROM X

38. The fanguage of discoursés:éf Gautam
Buddha was o

(A) Sanskrit

\/(B)/Pali (i

(D) Magadhi ”*e
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Photo
Voltajc
Convertg Cellis o device which

o oo
9Y into glgetric eneray

light ener 9Y into elecyric energy
D) soung Nergy into electric energy

40. Recently,

Harit Yog
(A)

Which Ministry has launched
a Programme in New Delhi ?

Ministry of Health and Family
Welfare

(B)

N2

(D)

Ministry of Science and Technology
Ministry of AYUSH

Ministry of Environment, Forest and
Climate Change

41. Which of the following statements about
oxygen is correct ? ’
Pttt

(A) Ithas ataste at standard temperature
and pressure.

(B) It is highly inflammable.
(C) It appears green when it is a gas.

(D) It appears a rich blue when itis a liquid
or a solid.

42. Which of the following is caused due to
phenomenon of scattering of light ?
(A) Formation of rainbow
Sky appears blue

(C) Twinkling of stars

(D) A prism splits white light into its
constituent colors
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s ar £ Which i
@- The Treaty on the Prohibition of Nucle City was the host of recently held

Weapons (TPNW) came into force in Orld Audig Visual gpq Entertainment

Summit

(A) 2017. ( AVES) 2025?
oy (A) p

(B) 2021 {3 ) atna

©) 2018 (B) Hyderabag

(D) 2022 \/(9)/, Bombay

44. Biochemical Oxygen Demand (BOD) s a

{

(D) New Delpi

u 4 . i .
measure of g 9 .‘ Which of the following is a correct pair ?
: L L3 (A), Sucrose - s i
k)m/o'rgamc pollutant ml‘:\igter B‘-)L‘:\-;:'_ Mple sugar
(B) particulate matter in water B) Mattose - table sugar .
(C) Glucose - di '
(C) inorganic pollutant in water ) © dlsaCChar,'de
] =y \_/LD){pat:tame — artificial sweetener
(D) organic pollutant in air — - —_—

49. Which of the following is/are correct

45. On which of the followin:g:{la magnetic statement/s ?

field can not produce magnetic influence ?
s (i) Safe mode is the default mode for
(A) moving electric charges . windows to start.

J&f) static electric charges

3
t o

(i) Microsoft windows is a database

(C) electric currents _. program.
(D) magnetic mateﬁals_‘f}f“z (A) Only (i)
(8) Both (i) and (i)
46. Which of the following Statements abot only (i)

dlaimiond ks Incamect? L3 (D) None of the above
(A) Itis made up of carbon atoms |
. 50. The Warsaw Pactwas
(B) Itisa ba'd conductcg{,gf electricﬂy (A) an agricultural alliance
(C) ltis the hardest natur.;:ll Substancg () an economic alliance

) Ithas same CWStaljﬁiudure as (c) a military alliance

) 2
graphite £ (- 6’)" a political alliance
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